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NOTE : Al questions are compulsory.
oy ‘a1’ (5x2=10)
Section ‘A’
1. 43 ferfgu —

D7 [eex, sin (b +¢)].
Write the formula :

D" [eax sin (b +¢)].

P.T.0,




(2)
5. <y = 5t 5 o o g 0 A

; e
Find the point of inflexion of curve ¥ X

3. 4 fafat—

fum"'x dxﬁm.‘-w‘:" X dx.

Write the formula *
Itanﬂxdx andfsec"xdr- 3
g Wmmtmﬂﬁml

Write the rules for finding Integrating factor.
5. e ferern fafe fien-fafia el

B i
Write the working rule of method of variation O

pammclers.
W la' (5 x3= 15)

Section ‘B’

eVedsin (1) 3 x#0
1. f&®)= 5 .

(3)
e 1% sin (1/%) ;x2 0
flo=
1 x=0
test for differentiability.

v
Or

e & tan 2 (- | A e o

Expand by Taylor’s theorem tan-! xin power of

3

: i:li-ecos()ﬁ%iﬁ%(r.ﬁ)ﬂtmmm

wifa )

Find the curvature of curv é: 1 +ecos B atpoint
(r,0).
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Or

F ay? =22 (a - x) H SFEEY FifF)

Trace the curve ay? = x2 (a - x).
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3. fcosx.coslrcosltdr:? i

i
Or
farg wifaw ff 3% 128 + p23 = 023 3 wegul vt
6a ¥ '
Prove that complete length of curve 127 + y23 =
a3 is ba.
4. @ Fifwu—
.r£+y =2 logx
Solve :
d J
x ‘[i +y=y.logx
‘
ik
Or
T Hfe—
¥ =2px +y%p3,
Solve !
¥y =2px+yipl.

8=

5. 7@ A
‘j;# Sx-2y =,
"2-‘-.1' +6y = e¥,
Solve :
d; +5x-2y =,
"‘1";' =X+ 6y = e
Kkl
Or
T T —
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A2 (d{x;— 2(x2 + \):2‘ +(2+2c+2)y=0.

Solve ;

xzzf;-';—2(.r2+.t)gj§+(x2+2*'+2))’=“-
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g 'q’ (5% 5=25)
HGH

3 X, il ————
Section ‘C Or

1. faafra = wira feraae g i)
T 32 (@ +x) = x2 (a - x)F SEN Fifo |

State and prove-Leibnitz’s theorem.

Trace the curve y2 (a + x) = x2 (a - x).
A

= 3. 2yl fm—
Or )
e S R
fag Fifar— 0 S+3cos= 21" (2)
xoxd 36 Show that :
logsee x=7% + 3+ 75+t
[ )
Prove that : o S+3cos™ 21 (i)
2 e
logsecx=F +13+35+ 00 Y
2, frefafan 3% &1 SFHaeaE o Ffse— Or
V-2 e+ 2y +2=0. T 32 (20 — x) = 23 T 9 T A W
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Find the asymptotes of the following curve :

Find the area between curve 2 (2a — x) = x and its
asymptotes.
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4. S T 17 sin b = " T EHAEON FIA T Fifom, il

el o T 1 wrEE E Or
Find orthogonal trajectory of family of curve r sin Bl Fifsu—

nb=a", where a is parameter,
Y
2 @2 de= =2
L4
Sl d

Or 23+4d.}§'3z=0.

Solve :

7l i —

f;%‘_ 4 s‘: +4y = 822, 2, sin 2.

a2

2§+4%-&=a

Solve : XXXXXX bXXXXXX

2
g}'g -4 :jl_{ +4dy =82, ¢2¥, gin 2y,

5. W faw @ ga wifan—
(D2 + 1) y = cosec x.
Solve by method of variation of paramelers .

(D24 1) y =cosec x.
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